

Need, $\int \tan^2 x \sec x - \tan x$

Let $\tan x = t$
 $\sec^2 x = \frac{dt}{dx}$

$\therefore \int \frac{t^2 \cdot \sec^2 x \cdot dt}{\sec^2 x} - \int t$

$= \int t^2 dt - \int t dt$

$= \int \tan^2 x \cdot \sec^2 x - \tan x$
 $= \int \frac{t^3}{\sec^2 x} - (\sec^2 x - 1) dx$
 $= \int t^3 dt - (\sec^2 x - 1) dx$

On integrating we get,

$= \frac{t^3}{3} - \tan x - x$

$= \frac{\tan^3 x}{3} - \tan x - x + C$

Q) Integrate $\int \frac{dx}{\sin x \cos^3 x}$

Solution:

Given,
 $\frac{dx}{\sin x \cos^3 x}$
 $= \frac{\sin x + \cos^2 x}{\sin x \cos^3 x}$

$= \frac{\sin x}{\sin x \cos^3 x} + \frac{\cos^2 x}{\sin x \cos^3 x}$

$\frac{\sin x}{\cos^3 x} + \frac{1}{\sin x \cos x}$

$$= \frac{\sin x}{\cos^3 x} + \frac{1}{\sin x \cos x}$$

$$= I_1 + I_2$$

Let $I_1 = \frac{\sin x}{\cos^3 x}$

Let $\cos x = t$
 $-\sin x \cdot dx = dt$

$$\therefore dx = \frac{-dt}{\sin x}$$

$$I_1 = \frac{-\sin x \cdot dx}{t^3 \sin x}$$

on integrating $= \frac{-1}{t^2} dt$
 $= \frac{t^{-2+1}}{-2}$

$$= \frac{1}{2t}$$

$$= \frac{1}{2} \sec x$$

$$= \frac{1}{2} \sec x + \log \tan x$$

$$I_2 = \frac{1}{\sin x \cos x}$$

$$= \frac{\sin^2 x + \cos^2 x}{\sin x \cos x}$$

$$= \frac{\sin^2 x}{\sin x \cos x} + \frac{\cos^2 x}{\sin x \cos x}$$

$$= \tan x + \cot x$$

on integrating we get
 $= \log \sec x + \log \sin x$

$$= \log \sec x \cdot \sin x$$

$$= \log(\tan x)$$

Q Integrate $\int \frac{\sqrt{\tan x}}{\sin x \cos x} dx$

Solution,

Given,

$$y = \int \frac{\sqrt{\tan x}}{\sin x \cos x} dx$$

On dividing on the both sides by $\sqrt{\sec x}$ we get

$$y = \frac{\sqrt{\tan x \cdot \sec^2 x}}{\sin x \cdot \cos x \cdot \sec^2 x}$$

$$= \frac{\sqrt{\tan x \cdot \sec^2 x}}{\cos x \cdot \left(\frac{\cos^2 x}{\cos^2 x}\right)}$$

$$= \frac{\sqrt{\tan x \cdot \sec^2 x}}{\tan x}$$

Need, let $\tan x = t$

$$\sec^2 x \cdot dx = \frac{dt}{dx}$$

$$\therefore dx = \frac{dt}{\sec^2 x}$$

$$\therefore = \int \frac{\sqrt{t \cdot \sec^2 x} \cdot dt}{t \cdot \sec^2 x}$$

$$= \int t^{-\frac{1}{2}} dt$$

On integration we get

$$= \frac{t^{-\frac{1}{2} + 1}}{-\frac{1}{2} + 1}$$

$$\therefore = \sqrt{\tan x} + c \text{ Ans}$$

Q) $y = \frac{e^{2x}}{(1+e^x)^2} = \frac{e^{2x}}{(1+e^x)^2}$

solution, put $1+e^x = t$

$$e^x \cdot dx = \frac{dt}{dx}$$

$$e^x \cdot dx = \frac{dt}{e^x}$$

$$= \frac{dt}{t}$$

$$\frac{(t-1) dt}{t}$$

$$1 - \frac{1}{t}$$

$$= t - \log t$$

$$= 1+e^x - \log(1+e^x)$$

Ans

Q7) $\int \frac{1}{e^x + e^{-x}} dx$

Solution, given $\frac{1}{e^x + e^{-x}}$

$$= \frac{e^x}{(1 + e^{2x})}$$

put $e^x = t$
 $\therefore \frac{dx}{dt} = \frac{1}{e^x}$

$\therefore \int = \int \frac{t}{(1+t^2)} \cdot \frac{dt}{t}$
 $= \int \frac{dt}{1+t^2}$
 $= \tan^{-1} t + C$

$\therefore \int \frac{1}{1+t^2} = \tan^{-1} t$

$= \tan^{-1} e^x + C$

Q8) $\int \frac{\sin^2 x}{\sqrt{\cos x}} dx$

Solution: given $\int \frac{\sin^2 x}{\sqrt{\cos x}} dx$

$$= \frac{\sin^2 x \cdot \sin x}{\sqrt{\cos x}} dx$$

Here, let $\cos x = t$
 $-\sin x = \frac{dt}{dx}$
 $\therefore dx = \frac{-dt}{\sin x}$

$$= \frac{\sin^2 x \cdot \sin^2 x \cdot \frac{dx}{\sqrt{t}}}{\sqrt{t}} = \frac{\sin^2 x (1 - \cos^2 x)}{\sqrt{t}} = \frac{(1 - \cos^2 x)(1 - \cos^2 x)}{\sqrt{t}}$$

$$= \frac{(1 - t^2)(1 - t^2)}{\sqrt{t}}$$

$$= \frac{(1 - t^2)^2}{\sqrt{t}} = \frac{[1 - 2t^2 + t^4]}{\sqrt{t}}$$

$$= \left[t^{-1/2} - 2t^{3/2} + t^{7/2} \right] \frac{1}{\sqrt{t}}$$

Now on integrating we get-

$$= \int \left[t^{-1/2} - 2t^{3/2} + t^{7/2} \right] \frac{1}{\sqrt{t}} dt$$

$$= \int \left[t^{-1} - 2t^2 + t^3 \right] dt$$

$$= \left[-\frac{1}{t} - \frac{2}{3}t^3 + \frac{1}{4}t^4 \right] + C$$

$$= -\frac{1}{t} - \frac{2}{3}t^3 + \frac{1}{4}t^4 + C$$

$$= -\frac{1}{\sqrt{\cos x}} - \frac{2}{3} \cos^3 x + \frac{1}{4} \cos^4 x + C$$